Polynomials

Homework 8

1.  (a) Show that 
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 is a root of the equation 
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     (b) Hence find the other roots.
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2.  Given that 
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is a factor of 
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, find

      (a) The value of a
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      (b) Hence solve the equation 
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 when a takes this value.
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3. When 
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is divided by 
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the remainder is 0, and when    divided by
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the remainder is 11.  Find 
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and 
[image: image10.wmf]b

.




(6)
4.   Find the equation of the perpendicular bisector of CD where the coordinates of C    

      and D are (4,3) and (2,-3) respectively.





(4)
5.   Find the equation of the tangent to the curve 
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